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Amazon 's artificial intelligence predicts there is a :

• 504 drona you will like
book A

• 40% chance you will like
book B

• 305.

chance you will like both books A and B
.

What is the implied chance you dont like
either ?
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Matching problem .
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When classes were in person ,
n students were always

on their phones , so the professor collected the phones

and placed them in a bucket. Suppose all phones

were identical models, and couldn't
be distinguished from

the outside . At the end of class
,
when these n

students pick a phone at random from the bucket
,

what is the probability that no-one picks
their own

phone ?

• E ; =
ith student picking their own phone .

• Es VELU . . - U En← at
least someone picks up

their own phone
• (Esv Ez U - - - UEnY= ET NEE n - - - NEE← dfnotirbadbility .



• Inclusion - exclusion principle :
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Exe. Suppose that 10 couples sit on a large round
table

, taking seats at random
.

What is the

probability that no couple ends up sitting together?
ng
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Q1 : In how many ways can

20 people sit on round table?

¥÷?H÷÷a÷÷.→3÷=⑨.
Q2:In how many ways

can u couples sit together?
"

Fix
"

K couples in their seats
,
and permute }¢q-K) !the remaining people .



ftp. Permuting seating
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£0,6605

An. Desired probability is I - 0.6605=0.3395

( 33.95%)



EI: If you pick a number at random between

1 and Looe ,
what is the probability that

it is divisible by 7 or by 11 ?

How about divisible by 7, or 11 , or 13 ?

A = your
number is divisible by 7

B = --
11

C = -
i.-

13

Pfau B) = ? P(A0Buc)= ?

PCA) = -142 , P(B) = -90 PG) = €6
1000 1000

'
1000

How many
numbers between 1 and tooo are

multiples of 7 ?

Tooo fL×J - largest integer
Ex .

¥-142 . 8571=142
.

Similarly , [19901--190.9091]--90 .
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